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 {Xdg - 09
^mJmH$ma

g‘OyZ KoD$¶m 

  EH$m ~aUrV 12 noT>o AmhoV. amOy, ‘rZm, gmoZy ¶m {VKm§V noT>çm§Mr g‘mZ dmQ>Ur Imbr 
XmI{dë¶mà‘mUo H$aVm ¶oB©b. 

EHy$U noT>o àË¶oH$mMm dmQ>m

amOy ‘rZm gmoZy 

12 4 4 4

  darbà‘mUo {VKm§V EHy$U 12 noT>o dmQ>ë¶mg àË¶oH$mbm 4  noT>o {‘iVrb åhUOo 12 Mo àË¶oH$s 
4 ¶m à‘mUo 3 dmQ>o Pmbo.

dñVyg‘yhmVrb dñVy§Mo g‘mZ JQ> H$aUo åhUOo ^mJmH$ma.

��  dñVy§Mr g‘mZ dmQ>Ur H$aUo åhUOoM ^mJmH$ma.  qH$dm
   dñVy§Mr g‘mZ JQ>m§V {d^mJUr åhUOoM ^mJmH$ma.  qH$dm
   dñVy§À¶m g§»¶oVyZ EH$M g§»¶m nwÝhm nwÝhm dOm H$aUo åhUOo gwX²Ym ^mJmH$ma.

  EH$m {nedrV 10 JmoQ>çm AmhoV. Oa aoUy, ‘moZy Am{U doUy ¶m {VKm§Zm àË¶oH$s 3 JmoQ>çm 
{Xë¶m, Va 1 JmoQ>r {eëbH$ amhVo. 

  H$go Vo nmhÿ : Ë¶mgmR>r 10 ^m{Jbo 3 H$ê$.

gmoS>dyZ nmhÿ¶m 

  EH$m {MÌ {dH«o$Ë¶mH$S>o 45 {MÌo AmhoV. EH$m nm{H$Q>mV 5 ¶mà‘mUo {MÌo R>odë¶mg {H$Vr 
nm{H$Q>oo bmJVrb?

  

 9 → JmoQ>çm dmQy>Z Pmë¶m.

3 OUm§V dmQ>Uo ← 3   10 → EHy$U JmoQ>çm hmoË¶m      ^mÁ¶

^mOH$

3 → JmoQ>çm àË¶oH$mbm {‘imë¶m      ^mJmH$ma

1 → JmoQ>çm {eëbH$ am{hë¶m.      ~mH$s

EHy$U {MÌo = 45
 EH$m nm{H$Q>mV {MÌo = 5
 {H$Vr nm{H$Q>oo bmJVrb = ?
 {eëbH$ {MÌm§Mr g§»¶m = ?

← {H$Vr nm{H$Q>o bmJVrb

← {eëbH$ am{hbobr {MÌo

← EHy$U {MÌoEH$m nm{H$Q>mV {MÌo → 5   45 
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  EH$m nwñVH$ {dH«o$Ë¶mH$S>o 30 nwñVHo$ AmhoV. 4 JR²>R>o V¶ma H$am¶Mo Agë¶mg àË¶oH$ JR²>R>çmV 
{H$Vr nwñVHo$ ¶oVrb d {H$Vr {eëbH$ amhVrb?

  {ejH$m§Zr 16 dhçm AmUë¶m, 4 {dXçmÏ¶mªZm  g‘mZ dhçm dmQ>m¶À¶m AgVrb, Va àË¶oH$mbm 
{H$Vr dhçm {‘iVrb?

  AjVmH$S>o 33 {~pñH$Q>o AmhoV. {VÀ¶m 7 {‘Ìm§Zm g‘mZ dmQ>ë¶mda àË¶oH$mbm {H$Vr {~pñH$Qo  
{‘iVrb d {H$Vr {eëbH$ amhVrb?

gamd H$ê$¶m 

 1) àË¶oH$ {dXçmÏ¶m©bm 3 {H$bmoJ«°‘ Vm§Xÿi Xçm¶Mo R>aë¶mg 18 {H$bmoJ«°‘ Vm§Xÿi {H$Vr OUm§Zm {‘iVrb?

 2) 98 amono 12 am§Jm§‘Ü¶o bmdm¶Mr AmhoV, Va àË¶oH$ am§JoV {H$Vr amono bmdmdr bmJVrb?

 3) 37 amO{Jam bmSy>§Mr 6 ì¶³VtZm g‘mZ dmQ>Ur H$am¶Mr Amho, Va àË¶oH$mbm {H$Vr bmSy> {‘iVrb?

 4) 36 én¶o àË¶oH$s 5 ¶mà‘mUo {H$Vr {dXçmÏ¶mªZm XoVm ¶oVrb?

∴ EHy$U nwñVHo$ = 30

JR²>R>çm§Mr g§»¶m =  4

JR²>R>çm§§Vrb nwñVH$ g§»¶m =  

{eëbH$ Agbobr nwñVHo$ =  

←  àË¶oH$ JR²>R>çmVrb 
nwñVH$ g§»¶m

←  {eëbH$ am{hbobr nwñVHo$

← EHy$U nwñVHo$EHy$U JR²>R>o →  

−


